AP Calculus AB
Monday, November 18, 2013

i . dy
. If vy = xsinx, then — =

dx

£{x) is pa‘si-(:ivz on (-10,10); therefore, £(x) is
inereasing on (-16,10).
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Whet is the relaotionship between Rolle's
Theorem cnd the MVYT?

Rolle's Theorem is d specific case of the MVYY
where f'(x) = ©

& ex s below, determine whether Rolle’s theorem can be applied to the function 1n the indicatec
ral. Ii‘ R ]_l s The ]::E'. applied, find all values of xthat satisfy Rolle’s Theorem.

2. j[xl —x"-11x+ 30 on [5,!5-]
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|! 3. /(_r)=(_r—2)(_r—3)(x—4) on [2.4] +. /(.r)=(.r+4]2(_r—3] on [—43]

5. f(r) =4—|x—2| on [—2.2] 6. _/[I)= sinxon [OAZ:rn]

2

7. /(r) =cos2xon [g%] 8. /[.1) = 6—: —4sin’ ron [0%]

ﬂ

For the exercises below, apply the mean value theorem to f(r) on the indicated interval &)d vﬂes of ¢

which satisfy the mean value theorem.

9 _/[;)= 1} on [—1_2] 10. f(r) - -r-2ron [—1.1] o 0

Do EVENS 2-1&
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